O1mar19 to 31mar19 all freg 84 pnts. Gain K/Jy

N
o

120 7
+B1005+077 F FIG 1 A
— 8 —
= f— —
§ . g f;; :
o= jIL % % - -
S % i;
O: L n n n | n n n n | n L L L | :
0 5 10 15 20

za

Tsys
40 ‘ ]
: 4500. 4860. 5000. 5385.Mhz +
C i +
= o HH T L + + _
7 e+ o F n
n S A T F .
25? —
20 ‘ ‘ ‘ | ‘ ‘ ‘ ‘ | ‘ ‘ ‘ ‘ | ]

0 5 10 15

za

Sefd
25 ‘ 7
20 =
zF .
<W5* +
O n T a
— + —
(@) - Jr —
QWOT ++ + - $ $ $ + +i
C + o
- ﬁ+ +$ 7
5 EF ]
0 5 10 15 20

za

AvgBmWidth

90E ‘ 3
_ 80fE =
= E
2 70E- —
% % %E%¥F;%+47+#, + T+ o+ +  + %
T 60E 3%¢i$4i? 3 + + + & + +3
[an] = + =
o = %+i i + +  + + 3
< L E e e + 3
40§ | | L | " g
0 5 10 15 2



+B1005+077

Gain [K/Jy]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

40

35

30

25

20

25

20

<]
(@)

oY)
(@]

~
o

(o]
(@]

o)
o

N
(@)

OTmar19 to 31mar19 4500 Mhz 21 pnts. Gain K/Jy
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O0Tmar19 to 31mar19 4860 Mhz 21 pnts. Gain K/Jy

= FIG 3
- gttt E
B ) ]
= T4 + =
- + 4+ + 7
0 5 10 15 20

za

Tsys
B +
- + ]
- + _
L n + i
: A A T+ ]
0 5 10 15 20

za

Sefd
- +
? + * -
- Lot + t 7
N + + ]
- #EL 4 —
0 5 10 15 20

za

AvgBmWidth

é + + + +  + E
= Tt Lo N
0 5 10 15 20

zda



+B1005+077

Gain [K/Jy]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

40

35

30

25

20

25

20

<]
(@)

oY)
(@]

~
o

(o]
(@]

o)
o

N
(@)

OTmar19 to 31mar19 5000 Mhz 21 pnts. Gain K/Jy
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